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Name: __________________________________


1
The expression [image: image1.png]cosdxcos 3x + sindxsin3x



 is equivalent to
	1)
	[image: image2.png]




	2)
	[image: image3.png]sin 7x





	3)
	[image: image4.png]COSX





	4)
	[image: image5.png]cos 7x







2
The expression [image: image6.png]cos40°cos 10° + sind0° sin 10°



 is equivalent to
	1)
	[image: image7.png]cos 30°





	2)
	[image: image8.png]cos 50°





	3)
	[image: image9.png]sin 30°





	4)
	[image: image10.png]sin 50°







3
[image: image11.png]Cos70° cos40° — sin 70° sin40°



 is equivalent to
	1)
	[image: image12.png]cos 30°





	2)
	[image: image13.png]cos 70°





	3)
	[image: image14.png]cos 110°





	4)
	[image: image15.png]sin 70°







4
Which expression is equivalent to [image: image16.png]cos Pcos 50— sinPsins0



?
	1)
	[image: image17.png]cos(P - 50)





	2)
	[image: image18.png]sin(P — 50)





	3)
	[image: image19.png]cos(P + 50)





	4)
	[image: image20.png]sin(P + 50)







5
Which expression is equivalent to [image: image21.png]sin 22° cos 18° + cos 229 s1n 18°



?
	1)
	[image: image22.png]sin 4°





	2)
	[image: image23.png]cos4®





	3)
	[image: image24.png]sin40°





	4)
	[image: image25.png]cos40°







6
The expression [image: image26.png]cos 80° cos 20° — sin 80° sin 20°



 is equivalent to
	1)
	[image: image27.png]cos 60°





	2)
	[image: image28.png]cos 100°





	3)
	[image: image29.png]sin 100°





	4)
	[image: image30.png]sin 60°







7
[image: image31.png]51n50° cos 30° + cos 507 sin 30°



 is equivalent to
	1)
	[image: image32.png]cos 80°





	2)
	[image: image33.png]sin 20°





	3)
	[image: image34.png]cos 20°





	4)
	[image: image35.png]sin §0°







8
The expression [image: image36.png]cos 70° cos 10° + sin 709 sin 10°



 is equivalent to
	1)
	[image: image37.png]cos 60°





	2)
	[image: image38.png]cos 80°





	3)
	[image: image39.png]sin 60°





	4)
	[image: image40.png]sin §0°







9
The expression [image: image41.png]cos 80° cos 70° + sin 80° sin 70°



 is equivalent to
	1)
	[image: image42.png]cos 10°





	2)
	[image: image43.png]cos 150°





	3)
	[image: image44.png]sin 10°





	4)
	[image: image45.png]sin 150°







10
The expression [image: image46.png]sin 80° cos 70° + cos 807 sin 70°



 is equivalent to
	1)
	[image: image47.png]sin 10°





	2)
	[image: image48.png]cos 10°





	3)
	[image: image49.png]sin 150°





	4)
	[image: image50.png]cos 150°







11
If [image: image51.png]SN = SNy = a



 and [image: image52.png]COSX=cosy=4d



, then [image: image53.png]cos(x - y)



 is
	1)
	[image: image54.png]




	2)
	[image: image55.png]b 4 a?





	3)
	[image: image56.png]2b—-2a





	4)
	[image: image57.png]2b+ 2a







12
Express [image: image58.png]sin 75° cos 15° — cos 759 s1n 159



 as a single trigonometric function of a positive acute angle.

13
Which expression is equivalent to [image: image59.png]cos 100° cos 80° — stn 100° sin 80°



?
	1)
	1

	2)
	0

	3)
	[image: image60.png]




	4)
	[image: image61.png]cos 20°







14
Which expression is equivalent to [image: image62.png]sind2° cos48° + cos42° sin48°



?
	1)
	1

	2)
	0

	3)
	[image: image63.png]sin 6°





	4)
	[image: image64.png]cos6°







15
The value of [image: image65.png]cos 75°% cos 159 — sin 759 sin 159



 is
	1)
	1

	2)
	[image: image66.png]




	3)
	[image: image67.png]




	4)
	0



16
What is the value of [image: image68.png]sin 210° cos 30° — cos 210° sin 30°



?
	1)
	1

	2)
	[image: image69.png]




	3)
	0

	4)
	180



17
The value of [image: image70.png]cos 162 cos 164° — sin 16° sin 164°



 is
	1)
	[image: image71.png]




	2)
	[image: image72.png]




	3)
	0

	4)
	[image: image73.png]






18
The value of [image: image74.png]sin 170° cos 20° — cos 170° sin 20°



 is
	1)
	[image: image75.png]




	2)
	[image: image76.png]




	3)
	[image: image77.png]




	4)
	[image: image78.png]






19
Evaluate:  [image: image79.png]st 300° cos 90° + cos 300° sin 90°





20
Evaluate in radical form:  [image: image80.png]sin 90° cos 30° — cos 907 sin 30°





21
The expression [image: image81.png]cos(d — B) - cos(4 + B)



 is equal to
	1)
	[image: image82.png]~2sin A sin B





	2)
	[image: image83.png]~-2cos B





	3)
	[image: image84.png]2cosAcos B





	4)
	[image: image85.png]2sinAsinF







22
For all values of A and B for which the expressions are defined, prove that the following is an identity:  [image: image86.png]sn(A+B)+sm(A-B) tand
sn(A+B)-sm(A-B)  tanB






1
ANS:
3
REF:
fall0910a2

2
ANS:
1
[image: image87.png]c0s(4 - B) = cosAcos B+ sindsn B
cos(40 - 10) = cos40 cos 10+ sind0sin 10
cos30




REF:
010401b

3
ANS:
3
REF:
068835siii

4
ANS:
3
REF:
081604a2

5
ANS:
3
REF:
019629siii

6
ANS:
2
REF:
019721siii

7
ANS:
4
REF:
019819siii

8
ANS:
1
REF:
019917siii

9
ANS:
1
REF:
080111siii

10
ANS:
3
REF:
010317siii

11
ANS:
2
[image: image88.png]cos(x—y) = cosxcosy + smxsmy

—bbtaa

b adt





REF:
061421a2

12
ANS:

[image: image89.png]sin 60°




REF:
089708siii

13
ANS:
3
REF:
019521siii

14
ANS:
1
REF:
018621siii

15
ANS:
4
REF:
089330siii

16
ANS:
3
REF:
089019siii

17
ANS:
1
REF:
069816siii

18
ANS:
1
REF:
010216siii

19
ANS:

[image: image90.png]



REF:
019410siii

20
ANS:

[image: image91.png]



REF:
088906siii

21
ANS:
4
REF:
088631siii

22
ANS:

[image: image92.png]sn(d+B)+sin(d-B) tand
Sin(A+B)- sm(A-B) _ tanb
sind
(sinAcos B+ cosAsinB) + (sind cos B cos AsinB)  cosd
(sinAcos B+ cos AsinB) - (smAcos B cos AsmB) | sb
cosB

2sindcosE _ sinAcosB

ZcosAsinB  cosAsinB

sindcosB _ sindcosB

CosAsinB - cosAsnB




REF:
089742siii
